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I:)i,dj (x,t) = eV

_ vl
Vi [+1v; ]
vi(x,t) i

v (x.1) j

@)

o€
Pltj (X’t) - 5

=v;(x,t)

Oy

Vi(x,t) i

vj(x,t) j
1 Va Vb

e 0D g oy = {

(3-1)

Lifg; (x,t) < g;(x1)
0, otherwise
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2 Va Vb

3 Va Vb
Vb
4 Va Vb
3.2
(1)
) (3)
(4) (5) (6)
1.
A.
(1)
Pldj (1_ P|d] )
i
] i
R (x 1) =R5(x 1) R(x.1) (3-3)
P (xt) =1-P5(x,1)- P (xt) (3-4)
Pif’j (x,1) i d j
Pif j (x,1) i t j
Pi(xt) f i
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RL(xt) i j
()

P(x,t) =1- P (x,t) (3-5)
P°(x,t) = P! (x,1) (3-6)
Ri(xt) o i
i
R7 (x.1) i j
B.
1)
Pi (6 =1=P5(x1)- P} (x 1) = Pi (1) - Ry (x,1) o
f _ pd pu
P (x,t) = P (Xx,1) Pi,j(x,t). 38)
Pii (x,t) = P (x,t)-P't (x,t) (3-9)
P4 (x,1) | d ]
P (x,1) i t J
P (x.) i t J
Ri(xt) f '
i
2
(3-5) (3-6)
2.
()
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C. (
(1)
)
200
(@) ()
R (xt) =R (x,1)-P'(x,) (3-10)
Pi(xt) =1-PS(x1)- P! (x1) (3-11)
P (x,t) =P/ (x1) (3-12)
P (x 1) =(@1-P/\(x1) (3-13)
(b) ()
R (x 1) =PR5(x1)-R(x1) . (3-14)
Pi(x) =1-Rj(x.)-R;(x1) (3-15)
(2)
(3-5) (3-6)
D.
200
(1)
(@)
Pl (x,t) = P9 (x,t) - Pl (x,t) (3-16)
Pt (x,1) = 1= P (x, 1) - Pl (X, 1) (3-17)
(b)
P/ '2(x,t) = P 2(x,t)- P /% (x,t) (3-18)
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Pksz (X,t) =1- Psz (X,t) . Pjt,i (X,t) (3-19)
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(3-5) (3-6)
CORSIM
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() 1s
3.
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(2) 4.5m 10m
4.
1) 3000  (m)
(2) 30m
3) 1 300
5.
1) 2400veh/hr
2 3600veh/hr
3 5400veh/hr
6.
6 3
3*6=18 4-1
4.2
CORSIM
5 2
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44.12% 42.48% 45.91% 2 MAPE 25.44% 39.44%

25,250 2 MAPE 31.350% 38.18% 33.12% 3
MAPE 31.14% 27.14% 27.51% 3 MAPE
35.09% 31.16% 32.35% MAPE
MAPE
4-2 1  CORSIM
CORSIM 210 302 327
231 348 302
0,
MAPE(%) 28.53 25.86 23.02
CORSIM 220 253 267
338 371 373
MAPE (%)
44.12 42.48 45.91
300 ——
—m— FET
200 \ﬁ%fgpl
TIES 2
100 )
0 1k
S0 200 500 750 1000 -100 300 | e g3
(m
4-5 1
B.
MAPE 30~50% 4
MAPE 30.69% 20.93% 34.25% 4 MAPE
48.44% 45.48% 48.64% 5 MAPE 21.95%
33.74% 32.73% 5 MAPE 41.95% 43.74% 41.73%
6 MAPE 34.91% 36.21% 30.88% 6
MAPE 42.99% 48.29% 40.17% MAPE
MAPE
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4-3 4  CORSIM

(veh/10mins)
CORSIM 222 338 259
165 334 395
0,

MAPE(%) 30.69 20.93 34.25
CORSIM 256 269 274
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